Year 4 Maths Answers

Add 2 or more fractions

o Complete the additlons.
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Complete the part-whole models
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d} which port-whole model Is the odd one out?
Explain your cholce to a partnear.
Did you both have the same onswer?

o Complete the addithons.
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o I:I |:| o Complete the number sentences.
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What could the missing numerators be?
Glve four different possibllities.
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Explain why Tommy Is Incorrect. o Rosle, Whitney and Teddy hove each been for o walk.
lushewull:ed%m.
-~ 7
%rgqﬁ:lﬂi ] L —] whitney walked Z km.
Rl i A = Teddy wulked%m.
a) How far did they walk altogether? |_;H krn
b} Jack also went for a walk. @
— Altogether the four children walked 3 km.
h E ) G . How far did Jock wolk? [ % [km
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Subtract 2 fractions
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o Jack has Z%kg of potatoes.

He uses % kg of potatoes.
How many kllegrams does he have left?

jack has | | |kg left.

o Complete the part-whole models.

Jege

o Complete the partawhole modeal In two different woys.

o Fill In the missing numerotors.
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o Alex and Annbe are taking turns ploying a computar gamea. @

Annke plays for a total ufz%hnurs.
Annke plays for % of an hour more than Alex.

How much time do they spend In total playing on the gome?

3% | hours
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Fractions of a quantity

o Complete the number santenoas.
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! ! o Fillp hos a chocolote bar with 5 equal pleces.

3 T The chocolate bar welghs 80 g.

b) lofao=| Ly e) Lofao=| 5
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. a) whaot Is the maoss of one plece?
Y

The mass of one plece Is g.
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b) Filip ems% of the bar of chowmlate.
20 80 How many grams does FINlp eat?
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Fllip eats| %L | g of chocolate.
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o Complete the number sentences.
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o Match the caolculations to the answers.
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o a) wrte each calculation In the comect circle.
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b) write one more calculation In each circle.

o Write <, = or = to compore the coloulations,
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Calculate quantities @

o Complete the sentences.
a) When one fifth Is 1, the whole 1s| 5
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o Match the calculations to the bar models. When one fifth Is 20, the whole Is | -,
wWork out the missing quantities.
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: when 1 s a, the whole Is | 2%
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o complate the bar models and fill In the whole.
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g | Dora and Mo have a full bottle of julce.
o =

F . Dora dﬂnks% of the Julce.

1 Mo mm%ufme Julce.

There |5 150 ml of Julce left In the bottle.

d) 29 How much Julce was In the full bottle?

295 |m

12 o Rosle and Ron are collecting red and blue counters. Q
They have the same number of blue counters.

They howe a different number of red counters.
o Complete the calculations.

a) Lof| L0 |=30 a) 2 of 15 [=18 I have 'IBzmunters
2 ? altogether. 3 are blue.
3
= o] my COLLMtErs
b) Lof| 20 |=1s fl Zof| 7 |=15 4 fm blue. @_@
Ron
a) How many counters does Ron have altogether?
o %af Lo |=18 gl %of L9 |=3s
I&
H red ters do they each have?
d1%°f=15 h]%of:EE b} How mamy counters eq

Rosle has| (| red counters.

Ron has red countars.

whita
0 Whita L Maths 1013 'r:
bt




